PRIMARY 4 END-OF-YEAR EXAMINATION 2013

| Name:: () Date: 24 October 2013
Class : Pimary4{ ) Time: 8.00 a.m. - 9.00 a.m,
Pofenfr's Sighature : Marks: ____ /100

MATHEMATICS
PAPER 1
(Bookiet A and Booklet B)

Time for Paper 1 is 1 hour.
Do not open this booklet until you are told | Booklet A

20

Read and foliow all Instructions carefully, | BookletB

to do so. ? )

40

Answer all questions.
Tolal for
Paper 1

60




Paper 1 : Booklet A (20 marks}
Questions 1 to 10 cany 2 marks each.

For each quesfion, four oplions are given. One of them is the correct answer,
Shade the correct oval {1, 2, 3 or 4) on the Optical Answer Sheet.

1. Rthousands and 5 tens is the same as
(1} 335
(2) 3350
{3) 33005
{4) 33050

2. Which of the following numbers when rounded off fo the nearest ten
becomes 43 500?
(1) 63445
(2} 63 498
(3) 63508
(4) 43559

3.  Which of the following fractions isin its simplest form?

{1
(2)-
)

(4)

§|N Olen olh avjwn



Find the value of 7.1 .
12 4

(1)

{2)

W R M

(3)

B G [

(4)

Write 4570' as a decimal.

(1} 47
(2) 472
(3) 4.35
(4) 4.035

One of the lines in the figure is parallel to DC.
Which line is parallel to DC?

P\

(1) AB
(2) AC
(3} AD
(4) DE



7."  The figure shown is made up of rectangle with breadth 5 cm and g
square of side 3cm. What is the perimeter of the whole figure?

A
(1} 17 cm
(2) ‘37 cm
(3} 40cm ?cm
(4) 43cm
5cm 3cm
8. % of a complete tum is °

{1) 90

{2) 180

{38) 270

{4) 360

9. Kevin has the same number of 20-cent coins and 50-cent coins thatadc ™
up fo $7. How many 20-cent coins does he have?

1 s
@ 10
B 15
(4 25



10.  Arthur weighs 32.8 kg. His father weighs twice.as much as Arthur.,
What is their total mass?

(1) 164kg
(2} 49.2kg
B 65.6kg
(4 98.4kg

End of Booklet A



Tao Nan School

Primary 4 Mathematics End-Of-Year Examination 2013

Name: { ) Class: Primary 4 { )

Paper 1 : Booklef B (40 marks) -

Each question carries 2 marks. Write your answers in the boxes provided.

For questions which require units, give your answers in the unils stated.

. ~ Write thirteen thousand and fifty-eight in figures.

12, Write the missing number in the number pattem below?

4559, 4809, 5059, . 55569

13.  Which two of the fractions below are equivdlent fo -1% ?
2 3 .
3 ' 6 7 24

and

4. Whatis the value of % + 'i‘?

Express your answer as a mixed number.




15.. Write 8 tenths as a decimail.

16.  Wiite the decimairepresented by A.

17.  Amrange the following numbers in order from the greatest to the
smallest,

0.062 , 0.906 ., 0.09

(greatest) {(smailles}]

18, Find the value of 9.76 x 8.




19.  One of the lines in the figure is perpendicular fo CE. Which line is
perpendicularto CE ? -

N
B

B C

2. Mariam is facing East. She makes a 90° clockwise fumn. Then she

makes a i turn in an anili- clockwise direction.

What direction does she end up facing?

21.  ABCDis areclangle. Find ZACB.
A B

32°




2. When it is 20 00 in Singapore, it'is 22 00 in Melboume. A plane took
off from Singapore at 21 05 and flew fo Melboume. When i landed

in Melbou_rne. a clock there showed 046 45. How ionqg did the ﬂith
actually take?

min

23. Three identical rectangles form a bigger rectangle ABCD.
What is the length of BC?

A P D

.
»

S Q 128 cm

cm

24, The area of arectangle is 48 cm?. lis breadih is 4 cm.
find the perimeter of the rectangle.




The bar graph below shows the volume of water Karen's family used
from January fo June. Study it carefully and answer questions 25 and 26.

Volume of water used

Volume of
water [m?)

Jan Feb Mar Apr  May Jun
Month

25.  Inwhich month did Karen’s farmily use 40 m? less water than
what was used in May?

26.  Inwhich month was the volume of water used 2% times that

of the volume of water used in June?




27.  The figure below is made up of 4 rectangles.

Find the area of rectangie A.

100mj140m?3y  80m?=

20 m? A

28.  The figure below shows a rectangle measuring 16 cm by 10 cm. Four
identical small squares of side 2 cm are cut out from each comer of

the rectangle. Find the area of the remaining figure.

16cm

10

10cm

cm?




29.  The figure below is half of a symmetric shape. Complete the symmetric
shape with the dottedine as a line of stmefry.

e

N

5

30.  Draw iwo more unit shapes fo complete the tessellation.

End of Paper 1

11



PRIMARY 4 END-OF-YEAR EXAMINATION 2013

-] Name : [ ) Date: 24 October 2013
| Class : Primary 4 ) Time: 10.30 a.m. - 11.30 a.m.
Parent's Signature : _ Marks: / 40
.MATHEMATICS
PAPER 2

Time for Paper 2is T hour.

Do not open this booklet until you are told to do so.
-Read and follow all instructions carefully.
Answer.all questions.




Questions 1 fo 10 carry 4 marks each. Show your woiking clearly in the space provided
for each question and write your answers in the spaces provided. For questions which
require units, give your answers in the units stated. {40 marks}

1. Awire 10.2 m long is cut info two pieces. One piece is 3 times as long as the
other. Find the lengih:of the longer piecein-metres:

{Round.eff. your-answerto T-decimal place}

Ans:

Timis 5.5 kg lighter 1hdn‘.,S'elm. Benis twice as heavy.as Tim, The fofalmass of the
three.boys is 159.1' kg. Whatis Tin's mass?.

Ans:




3. Jolene had a piece of cardboard measuring 28 cm by 14 cm. She cut out
Square A of side 6 cm,and-Seare B of side4-cm as shown. Find the perimeter

of the rémaining piece of cardboard.

.28cm -

Y

A

14 cm

------

.Ans:

4, Pole Ais 12cm Ionger-fhah Pole B —2— the length of Pole B is equal {o half the

length of Pole A.. What is the lengih of Pole B?

"~ Ans:




5. Ali and Bala have some money. If Ali gives Bala $50, they will have the

same ‘amount of money. How much mere money, does Ali-havé than Bala?

Ans:

6. Kai Ming had $100» He bought 2baoks at $24.50 eaich and spent.parof the

rerpgining money on 3 caleulators. If he had $11.40 eff, how much did-eachs
calculator cost #

Ans:




8. Mother bought ¢ cotfon ribbons and silk fibbons altogether” The fotél length.of
the ribbons bought was 21 m. Each cotton ribbon was 3 m long and each
silk ribbon was 2 m long. How many silk ribbonstdid Mother buy? L




7. Aunt Susan baked 90 cupcakes: She gave-54 cupcakes to her friends.

She then sold —§~ of the remdining cupcakes at $3.00 each.

How much money did she receive.from the sale of the cupcakes?




?. Theleiter I below is made up of three identical overlapping rectangles.

Each rectangle measurés 30 cm by 5 cm. Find the area of the letter I.

- -
- on an

-
-

IScm

[
o

A

30cm

Ans:




10.  Asequence of shaded and unshaded squares is shown in the patterns below.

Paltern 1 Patlern 2 Paitern 3
a}  Compilete the table below for Patiern 4. {1 mark)
Pattern Number| Number of shaded squares | Number of unshaded squares
Pattem1 |’ 4 ' 5
Pattermn 2 6 8
Pattern 3 8 - 11
Paitern 4
b) * InWhich pattern wil there be lé:shaded squares? - (1 mark)
Ans: b)

Cc) How many unsk}'adedrsquare& are there in‘Pattern 127 (2 marks)

Ans: cj

End of Paper 2
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Answer Key


,‘- 'Papérth: |

1. 10.2:4=2.55
2.55x3=7.65
7.65+7.7

- Answer: the le’n’g’tﬁ of the longer piece is 7.7 m

2. 159.1-5.5=153.6
153.6-4=38.4 kg
3. 6+4=10
14-10=4
28-4=24
6-4=2
. 28+14+24+4+2+6+6+4=88 cm
4. 12x3=36 cm
5. 50x2=100 dollars
6. 24.50x2=49
49+11.40=60.40
100-60.40=39.60
39.60:3=13.20 dollars
9.5x2=10
30-10=20
30x5=150
150x2=300
20x5=100 L
300+100=400 cm square
10a).10 14
~ b). 16-2=14
14+2=7
Answer: pattern 7

c). 12x3=36
36+2=38
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